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L ROBEK f(x,y) DWEBE fo(x,y), fy(z,y) Z2RD K. (%4 /)
(1) flz,y) =2 (x> 0)

@) flaw) =55

(3) f(z,y) =tan™!

SHES

2.

flz,y) = 2% +y? z(t) =t—sint, y(t) =1—cost &F 5. GEEBDMIEZHNT,
2(t) = fa(t),y(t)) DEREE 2/ (¢) Z KD K. (6 5)

3. flz,y) =2*—y? x(r,0) =rcosh, y(r,0) =rsinf &35, GEEBDOMDEZHNT,
= f(z(r,0),y(r,0)) D O IZBE 9 DIRERIEL zp(r, 0) Z KD K. (6 52)



4. BEE f(z,y \/—xLﬂ/tZ— (z,y) EORP (1,2, f(1,2)) IZD2WTH RO
:éi&((ﬁﬁ() s (3)4 /)
(1) y$ﬁi@5@wnk 152, R (1,2) I8 8Ma %Rk £.

(2) MPIBIBETEHOHRRE KD &.

(3) MPIZBIT D yz VHIEFATRERR (WP Z@YFH =1 LIZHIHERR) OF
BAZ kD &.

5. OO~ o= VEREZEEINZUEROEE RO L. BREIIAEL T 5.
((1)4 5 (2)6 50

(1) flz,y) =log(l + 22 +y?) [ARET, v i :g(t):log(1+t):tf%t2+ét3f~~ ]

[BIRET, vurh :Q(t)=%=l+t+t2+t3+t4+-~-]

(2) flz,y) = [



6. BB flx,y) = x'e ¥ IZDOVWTIRDRIWIZEZ K. (1) 6 5 (2)10 £1(3) 4 55
(1) flx,y) D2 E TOMMEREZ TRTRD &.

(2) flz,y) DR(L2)IZDOPWTDTA 7 —EiZ 2IRDIELTRD K. FRIEITAZE
L9 5%.

(3)  fuayy(1,2) ZRO K. F72, TAT—EIZBEITS (2 —1)*(y — 2)* DR ZEK
O XK.

7. ROMEPFIES D008 5 D efiN, FAET 56 I FBRMEZ KD &. (%5 &)

. Ty
1 hm _—
(1) (z,y)—(0,0) 22 + y?



2xy

lim
(z.y)—=(0,0) /22 + 12
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8. IROBE f(x,y) PWEHIZBWTERTH B0 E S 2 W LR e B Z K. (650
(zy #0)

e — 1
1 ((z,y) = (0,0))

flz,y) = Ty

9. flr,y) =2 =322 +9* £95. IROMWIZEZR K. ((1)4 55 (2)10 £0)
(1) (REBE fo(x,y), f(x,y) ZRD K. £7z, 2y FEH ED A(-1,2), B(0,0)iZH
\F % BIEUE & R (R & RO TR Z T K.

fa(@,y) = fulz,y) =
A('LQ) f(_lv 2) = fx(_172) = fy(_la 2) =
B(0,0) f(0,0) = f2(0,0) = f4(0,0) =

(2) A, BO2EZNZNIZEWT, BEKEHEZAWT, f(r,y) =0 TEX 3EH
BOHFEZWZ D, BHELIZEZ L. £72, BEBOGFENL VR S H T,
RO HEAZ KD K.



